Dawson College: Calculus II: 201-NYB-05-S02: Fall 2009

Test 2

Name: y LAM/)A/ &V}M e
Student ID:

This test is graded out of 43 marks. No books, notes, graphing calculators or cell phones are allowed. You must show all your work, the
correct answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the

page.
Question 1. (3 marks) Integrate the following indefinite integral:
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Question 2. (5 marks) Evaluate the followmg deﬁmte mtegral
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Question 3. (5 marks) A tank has the shape of a hemisphere with its round side up. The tank is 4 meters across the bottom. How much
work is done in emptying the tank by pumping the water 5 m over the top? (p = 1000% and g = 9.8;’—5 )
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Question 4. (5 marks) Find the arclength of the graph of the function

o i | _ Lo0s ¥
over the interval [%,%ﬂ]_ g ’ P
3L
- r _ |
S - g [%L[Gjl);‘OJX (ﬂ - cpsx
1 S X
; Yool x
31 y -
_ (
i g 4 t’x dx
I
H
NElin | .,
- SH £5¢ 7% dx Deing ip)gmally
- ; “
.”/'E V
Y
¢
- S [6C X% Jx
5
2l , | o
| / ’ = [—'WIC%%;—’% wb 3
= [/a4i646X+¢(7/< p
i
) i’
+ In /cscq” '*sz%i
—_— T . Uz
4 vz
_ 3 o
ﬁmg{i = = co'ifHI
4% coc =L = o V2
| A X
! - = LT = -
toun 2= - =7 éoﬁq- J

|



Question 5. (5 marks) Sketch the region bounded by the graphs of the functions
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Question 6. (5 marks) Set up and evaluate the integral that gives the volume of the solid generated by revolvmg the plane region defined
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Question 7. (5 marks) Set up and evaluate the integral that gives the volume of the solid generated by revolving the plane region defined
by:
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Question 8. (5 marks) Integrate the following indefinite integral
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Question 9.(5 marks) Integrate the following indefinite integral:
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Bonus Question. (3 marks) Integrate the following indefinite integral:
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